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CBSE Class 12 Chemistry Question Paper 2019

SET -1

Series : BVM/1 o= 56/1/1

; el Fe H WG F §EG-IS
e T 397 fod |

Roll No. Candidates must write the Code on
the title page of the answer-book.

FRIT A HLA o 30 TH-TA A ABA TS 152 |

- H G-l 81 <hl 3R T TTT hIE R <hl BT I -G eiehl o J@-T% T ford |

F1 S1E F A foh 30 TH-THAH 27 WA 2 |

FIAT IR 1 I TEH & T A T&t, T 1 01 Havd ford |

39 Y¥-T3 ! e o fole 15 e o1 a0 e w2 | woA-13 &1 faawor q@is o 10.15
o1 ToRAT ST | 10.15 591 | 10.30 &1 T BT hadl A~ I Ui 3 30 a4 &

A o IT-YfETeRT T I I AT for |

Please check that this question paper contains 15 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.

Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 am. From 10.15 am. to 10.30 am., the students will read the
question paper only and will not write any answer on the answer-book during this period.

Wﬁﬁﬂ (ﬁaﬁm)

CHEMISTRY (Theory)
Regffa aq7 : 3 g2 STTrBaH 37 : 70
Time allowed : 3 hours Maximum Marks : 70
= e -
(i) @t FeT sar & |
(ii) M7 3 : FH-GEIT1 @5 T Hd 79~ 597 8 3N Gk Jo7 & [o7g 1 HF 8 |
(iii) HTT & : JoH-T&IT6 @ 12 7% Tg-3019 Y97 & 31K I J97 & for@ 2 3% & |
(iv) HIT T : FoH-GEIT13 824 7% 4 T -3I09 97 8 3N Jedeb Y97 & [og 3 3 8 |
(v) HFTE:JH-8EI125 827 T e-37009 397 8 3K G J97 5 3761 #18 |
(vi) o7~ § GG fasheq 8] 1597 737 8 | 15T 91 U 379 q1t 1§91 8, 2 3] a1t g1
ol §, @7 37 arct IR F59 797 gie 7] a1e o7 3e1 7 fawey foar & 1
08 g yv71 § G 37991 T & fdheq FT I G 8 |
(vii) 3le T &, a1 1T TFTIHIT TR 717 Gha & | FTpeiet & JIIT 31 Sgard
785 |
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General Instructions :
(i)  All questions are compulsory.
(ii)  Section A : Q. no. 1 to 5 are very short-answer questions and carry 1 mark each.
(iii)  Section B : Q. no. 6 lo 12 are short-answer questions and carry 2 marks each.
(iv) Section C : Q. no. 13 to 24 are also short-answer questions and carry 3 marks
each.
(v)  Section D : Q. no. 25 to 27 are long answer questions and carry 5 marks each.

(vi)  There is no overall choice. However, an internal choice has been provided in two
questions of one mark, two questions of two marks, four questions of three marks
and all the three questions of five marks weightage. You have to attempt only one
of the choices in such questions.

(vii) Use log tables if necessary. Use of calculators is not allowed.

qm: A
SECTION : A
1. NaCl 3R AgC/¥ & i F1 Shehed TN CITT 8 3R HT ? 1
Out of NaC/ and AgCl/, which one shows Frenkel defect and why ?

2. FmfaRad =i 3T FauAmRl % dgd 3 § SFaferd hif : 1
(CH,);N, C,H;OH, C,H;NH,
Arrange the following in increasing order of boiling points :

(CH,);N, C,H.OH, C,H,NH,

3. hiciige! w1 H 3fIve 3k yuTaeTedt Fi &l & 7 1
HAYST
SO (T 3T el A 1 = R ?
Why are medicines more effective in colloidal state ?

OR

What is difference between an emulsion and a gel ?

E5E
ol
E H]

56/1/1 2
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4. U ICTELYT Higd 3WeH! TRt <k it forfge | 1

Define ambidient nucleophile with an example.

5. TSI 3R WA 1 Hifeteh TEATCsh 3T 8 ? 1
YT
AFEIE o e 3T o UYET ITH SedTel i ferfa |
What is the basic structural difference between glucose and fructose ?

OR
Write the products obtained after hydrolysis of lactose.

qir: =
SECTION : B
6. Frferfia o 3 for s T wfn e 2
(i) XeF, S FqEfed Bl 2 |
(ii) MnO, % 1= HC/ o 819 TR foham STl 2 |
YT
Fretferfen seieh = o1 3ffa Torend 3 e St iR
(i) H,0,H,S, H,Se, H,Te — 37fia Jehid < sigd s H
(i) HF, HC/, HBr, HI — 3T T % Ted 9§
Write balanced chemical equations for the following processes :
(i)  XeF, undergoes hydrolysis.
(i) MnO, is heated with conc. HC/.

OR
Arrange the following in order of property indicated for each set :
(i) H,0,H,S,H,Se, H,Te - increasing acidic character

(i) HF, HC/, HBr, HI — decreasing bond enthalpy

56/1/1 3 g = pT.0.
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56/1/1

SS

arasiiel 3reRdl Ol faerad & fofu tRee & fram = gfenfyd e | wsft arsast w
T3¢ & 990 &1 Ired 4 a1 foere i e fafdreand fafgn |

State Raoult’s law for a solution containing volatile components. Write two

www.edugrooss.com

characteristics of the solution which obeys Raoult’s law at all concentrations.

IR ER

T TTem
o fore sefora fomenfarfér = <) ré argam 2 -
(1) H,0,+T 5> H,0+I0 (¥<)

2H,0, >2H,0+0,

(2) H,0,+10°—>H,0+I +0, (=)

(i) AR o ToTq o T faRae |

(i)  arfrfsran 1 e wife ferfau |

(i) 9 (1) 3 (2) F T & e AT FHaRs ue g 2

For a reaction

2H,0 »2H,0 + O
272 alkaline medium ~ 2 2

the proposed mechanism is as given below :
(1) H,0,+T" > H,0+I10" (slow)
(2) H,0,+10 - H,0+I +0, (fast)

(1)  Write rate law for the reaction.

(i1) Write the overall order of reaction.

(i) Out of steps (1) and (2), which one is rate determining step ?

S8 MnO, %1 KOH 91 KNO, S8 STefishish o H1Y HIferd o6 ST 2 ot Mg &t
1 Fifiteh (A) IT BiaT 2 | Fefa foersm § difires (A) sEmEed Bt St 1
ifis (B) <t 7 | ifies (B) o1 &t feerer K1 =t #fifire (C) o stfefispa ot 2an @
e Alfieh (B) 1 TA19%hd o= K11 (D) # 3efihd X edi = | (A), (B), (C)

3R (D) <t wg=H I |

When MnO, is fused with KOH in the presence of KNO, as an oxidizing agent, it

gives a dark green compound (A). Compound (A) disproportionates in acidic solution
to give purple compound (B). An alkaline solution of compound (B) oxidises KI to
compound (C) whereas an acidified solution of compound (B) oxidises KI to (D).

Identify (A), (B), (C), and (D).

: .fs



www.edugrooss.com

EDUGROSS

WISDOMISING KNOWLEDBE

10. ®%a [Pt(en),Cl,] I IUPAC M feifgq | 59 Gt & ST HHIGREl 6l HT=HT

aRfiga i | 2
A1

IUPAC HEUE! %1 39T ohid 5¢ fwtforfiga & w3 forfiae :

() EFEUEFHETeS (I1) Tethe

(ii) ISR ZrEATaREeERme(IIT)

Write [UPAC name of the complex [Pt(en),C/,]. Draw structures of geometrical

1somers for this complex.
OR

Using [TUPAC norms write the formulae for the following :

(i)  Hexaamminecobalt(IIl) sulphate

(i) Potassium trioxalatochromate(IIT)

11.  [CoF " &R [Co(en),]"" # & I &1 Hpel & ? 2
(i) STITh
(ii) e mht
(ifi) 37Tk Hereh Tepet 3T
(iv) 3 JTIshvT Tt
(Co <1 TRHTY] SHHT = 27)
Out of [CoF]* and [Co(en),]*", which one complex is

(1) paramagnetic
(i) more stable

(iii) inner orbital complex and
(iv) high spin complex
(Atomic no. of Co =27)

12. frferad g sififsrnsti 4 @R A 3T B i g fafa - 2

KMnO, - KOH H.O"
(i) @ 4, —EQ > A i B
OH

H,N-NH-CONH
(11) Cf03 s A 2 —CO 2 ;

B

56/1/1 5 gﬁ [P.T.O.
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Write structures of compounds A and B in each of the following reactions :
CH,CH;

KIVIHO4 = KOH . H30+

A >B

(1)
OH

CrO, H,N-NH-CONH,

> A

(i)

qe: 9
SECTION : C
13. wifeT™ i 7q8 W NH, %1 faue sy ®ife i srfufrn 2 | afe 35 srfufen &1 o
T (k) 4 x 10° Ms™! 2, @ NH, &1 TR Jigdr 0.1 M 8 52t 0.064 M 8H
fepaT | & 7
The decomposition of NH, on platinum surface is zero order reaction. If rate constant (k)
is 4 x 10 Ms ', how long will it take to reduce the initial concentration of NH, from
0.1 M to 0.064 M.
14. (i) 79 9T § GioRRrd IRehiet shi @ fHeT & 2
(ii) FeCl
~7 ™\ NeOH
foer
o 0 & 8 fafy g ws Hieisdl dfd smn | weHe | 54 Sediiaa B
HTHETEE HITIEE! HUI o HI HT AT 8 ? Ig Bl hd (&fUd foban ST & 2
(iii) 19 < H1 TEeRSY fhy TR yRafdd g g 2
56/1/1 6 S

E!l
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(1)  What is the role of activated charcoal in gas mask ?

(i) A colloidal sol is prepared by the given method in figure. What is the charge on
hydrated ferric oxide colloidal particles formed in the test tube ? How is the sol

represented ?

FeCly
Solution

l

=7\ NaOH

Solution

(111) How does chemisorption vary with temperature ?

15. i Tcd BT hirgd B (foc) TR aTet Seish § fReeelisd 2iar @ fwes & &
TS 300 pm B | T 1 8cd 10.8 g em ™ @ | T hitoTe ok 108 g 7 | o wammy]
2l 3
An element crystallizes in fcc lattice with a cell edge of 300 pm. The density of the

element 1s 10.8 g cm . Calculate the number of atoms in 108 g of the element.

16. o 5 Fohtd (M = 342 g mol ™) & 4% faerm (afawra gem™ wiw) &1 feamss 271.15 K
2 | et 3 Tehid (M = 180 g mol ™) & 5% fororar o femmeh ithfora i | 3

(fen R - 3¢ o1 1 fewie = 273.15K)

A 4% solution(w/w) of sucrose (M = 342 g mol ™) in water has a freezing point of

271.15 K. Calculate the freezing point of 5% glucose (M = 180 g mol 1) n water.

(Given : Freezing point of pure water = 273.15 K)
56/1/1 7 g%% [P.T.0.
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17. (a) iCsehtor ferfes T 19 SaTse 51 3
(i)  Frfasgar arel STl ) e S % oI g B 2 |
(i) W FIYATH STl GG ol T B % oI St il 2 |
(b) Cu,S § HIT b Fhevl # B areht THEH Al H fafay |

(a) Name the method of refining which is
(i) used to obtain semiconductor of high purity,
(i) used to obtain low boiling metal.
(b) Write chemical reactions taking place in the extraction of copper from Cu,S.

18. feferfiga = foere o i - 3
(i)  GohAY ded 3 3T ATk 3ekteh 61 Wit e H1a & |
(i) (Mn’[Mn)h fTU E° AT SHvITcHe &1 & Wi (Cu®'|Cu) % foTw e |
(iii) fFeire 3T e famrmel  sfrRrdand gwid € |
Give reasons for the following :
(i) Transition elements and their compounds act as catalysts.

(i1) E° value for (Mn?'"'|Mn) is negative whereas for (Cu®'[Cu) is positive.
(111) Actinoids show irregularities in their electronic configuration.

19. frfcrRad sgereni ot T o < forw e wehereh! ol HEETU forfia - 3
(i) TEAMN-6,6
(i) fetges
(iii) SLT1-S
T
CH

3

(i) wf CHzéH}n@Gﬂa@mw%masqgmwﬁ?WﬁQl
(i) TrfcTiaa ST o Toheis foTRau :

HN\]/N\"/NH—CH2

N N

Y :

IISIH

(iil) TSR % Tooh-1ehT0T § T <hT AT fHehT 3 2

56/1/1 8 E';%E
Gl
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20.

56/1/1

Write the structures of monomers used for getting the following polymers :
(1) Nylon-6,6
(1) Glyptal
(i11) Buna-S
OR
CH,4

I
(i) Isf CH,-CH+ , a homopolymer or copolymer ? Give reason.

(11)  Write the monomers of the following polymer :
HN\|/NTNH - CH,
NYN

Tl\lH

(i) What is the role of Sulphur in vulcanization of rubber ?

n

(i) e i mieral # ferg TeRR T 3wy ITE BT & 2 3
(ii) gt o fohe TohR T SuwTSieh Y il 2 2
(iii) ferem 1 3w B wesh b w0 H Spguilhd w6 T R e 8 0
o
3fd Serewr afga fraforfad wef &1 fotyd i -
(i) foreea-wien wiesfiam]
(ii) forersnmeft (femgahace)
(ifi) T ST

(i) ~ What type of drug is used in sleeping pills ?

(i)  What type of detergents are used in toothpastes ?

(1) Why the use of alitame as artificial sweetener is not recommended ?
OR

Define the following terms with a suitable example in each :

(1)  Broad-spectrum antibiotics

(1)) Disinfectants

(i) Cationic detergents

9 ‘EI’%% [P.T.O.
E] H1



www.edugrooss.com

EDUGROSS

WISDOMISING KNOWLEDBE

21. (i) (CH,),C-Br 3R (CH,),C-1H & %M S 1 & ¥ aiferes arfufspamfiia 2 siiwio 3

(ii) p-TTEEERARIEA i Fefd NaOH % €Y 443 K T TH i b F1¢ 3Ahd B
W & 9Tt 3cTe i ferfiu |

(ili) =I-2-31Tct & gfequr 3R T YT Yuieh THEATET BT TNl AEE gRI 37T

T F1 ST BT & ?

(i)  Out of (CH,),C-Br and (CH,),C-I, which one is more reactive towards Sy1
and why ?

(i) Write the product formed when p-nitrochlorobenzene is heated with aqueous
NaOH at 443 K followed by acidification.

(ii1) Why dextro and laevo — rotatory isomers of Butan-2-ol are difficult to separate
by fractional distillation ?

22. U WHTH A ‘A’ Br, 3R KOH % #1% TH foht I W C H,N 3UEF are Aifies
‘B’ &1 8 Sl CHC/, 3R Ueahlaiicieh TIeIeH BISgiadTse o H1Y TH i T g4
Terd <C’ ST 2 | s A, B 3R C Y G 37 JUPAC 74 fafa | 3

An aromatic compound ‘A’ on heating with Br, and KOH forms a compound ‘B’ of
molecular formula C.H,N which on reacting with CHC/; and alcoholic KOH

produces a foul smelling compound ‘C’. Write the structures and [UPAC names of
compounds A, B and C.

23. ffafaa srfufsrenst = goi Hifqe : 3

. O/ CHO  NaCN/HCI

(i) (C.HCH,),Cd+2CH,COCI—>
CH

3

(i) Br, / SATeT $IEhHH_

L
(i) CH;- CH-COOH —
] (i) H,0

31
freaferfaa srffsranat o forg wamafres gt fafiag -

(i) A 6 7 Ba(OH), % Frer tfufsean 1 et 2 |

(i) THREHN 61 Zn(Hg)/AT5 HCI % d19 SATToh &1 STl & |

(iif) SIS FARTSE ST Pd/BasSO, i 3ufefd § BTggIaIentl fordm STa1 2 |

56/1/1 10 ;E‘%%
E H]
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24.

Complete the following reactions :

0 @/CHO NaCNJHCI

(i) (C4H,CH,),Cd+2CH,COCI—>
CH

3
|
(1) CH;-CH-COOH

(i) Brz / Red P4\
(iHH,O0
OR

Write chemical equations for the following reactions :
()  Propanone is treated with dilute Ba(OH),.

(i) Acetophenone is treated with Zn(Hg)/Conc. HC/
(iii) Benzoyl chloride is hydrogenated in presence of Pd/BaSO,.

freferfiga & 9 s Hifsu 3
() Tl TR e
(i) U<TES 99 3N RHEES 5
(iif) IR T 3R TR T
HYAT
D-ehig W et wte § frafefea $i sufeuts eniy % foe vamte sififmand
forfigu -
(i) 9 e
(i) 79 Toehlget TE
(iii) SHTETHE T8 % €Y § Uceess

Differentiate between the following :

(1) Amylose and Amylopectin

(i) Peptide linkage and Glycosidic linkage

(1i1) Fibrous proteins and Globular proteins
OR

Write chemical reactions to show that open structure of D-glucose contains the
following :

(1)  Straight chain
(11)  Five alcohol groups
(1) Aldehyde as carbonyl group

EI5E

56/1/1 11 S0 [P.T.O.
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HIT: ¢
SECTION : D
25. QTS e arffRaT o forg Eoy 271 VR 5

Mg, +Cu*’ gy M) Mg (g 001w + Ci

Afufora o foTq By, Tiepford g | feregd o < wame o feen forRee st e mn

T s fova 2

(i) 2.71 V8 HH AR

(i) 2.71VH fes

YT

(a) FeSO, 3R ZnSO, ferld-3raeed @ W Aviisha # w1 a1 ferega - arwerest &l X
FRY & 2 wrfier <t Trft fera- 4w a e Jafed i T8 39 a% Fe % 2.8 g U
X % e W fafia gu | feega amo fohas T o wanfed i e 2 ¥4 Y & hle
R &y Zn <t AET gitesferd hifu |
(AR g&MH : Fe =56 gmol ! Zn=65.3 gmol ™), 1F =96500 C mol ™)

(b) TSR =TEHAT (», ) 3R H=dT & A (c'?) % i 3reid § & forgga- 3o A
3 B % foru freferfaa o e gu

I

Am

A

B
12 —>

c

fraferiaa & s i ;

(i) Tor@-3meer A 3R B &1 Yahfd 1 Unfie Hife |

(i) fered-AvagEi A 3R B 1 @l 96 Y H AR Gga A 8 dql oA b
S W B R 2

E° . for the given redox reaction is 2.71 V
2+ 2+
Mg, + Cu™ 01 vy — M8 0001 M) T Cligg)

Calculate E_,, for the reaction. Write the direction of flow of current when an

cell
external opposite potential applied is

(i) lessthan2.71 V and

(1) greaterthan2.71 V

OR

56/1/1 12 %%
w4
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(a) A steady current of 2 amperes was passed through two electrolytic cells X and
Y connected in series containing electrolytes FeSO, and ZnSO, until 2.8 g of

Fe deposited at the cathode of cell X. How long did the current flow ? Calculate
the mass of Zn deposited at the cathode of cell Y.

(Molar mass : Fe =56 g mol™! Zn=65.3 g mol™, 1F = 96500 C mol™)

(b) In the plot of molar conductivity (».) vs square root of concentration (c
following curves are obtained for two electrolytes A and B :

l

Am

1!2)
3

A

B
2z =

Answer the following :

(i)  Predict the nature of electrolytes A and B.

(i) What happens on extrapolation of A to concentration approaching zero
for electrolytes A and B ?

26. (a) Y FEATAREE EU=R0T HH AT 2 5
(i) A % UfEE §
(i) ULHTA B -2 -ATA A
(b) Tr=ferfaa srfufsran i forefafy fafau :

H,S0
C,H;0H 4;3 K“ — CH,=CH, +H,0
(c) S=SiA ol 3T HHTST Serdg -Rrt NiqeaTos 3tk ATar & i a1 & ?

YA
(a) TrfeTRad o ST €I -
(i)  p-TISSIhIIE hi STUETT o-TTEEIhHI e HTI-ATSTA A Biell @ |

(ii) t-SFeAFANIgS, Higan HufFEe & WY ™ W T -SRI s &
I 2 -BIYIH ST 2 |

(b) T=fafea @ aeg srfufsrand fafen -
(i) TR sfufran
(i) TS 1 hISe sh1Te Ufeehetientur
(c) TSt 3T T ¥ faie o o fore ower e wdem dfvw |

56/1/1 13 g = |p.T.0.
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(a) How do you convert the following :
(1)  Phenol to Anisole
(11) Ethanol to Propan-2-ol
(b)  Write mechanism of the following reaction :

H,S0,

C,H,0H CH, = CH, + H,0

(c) Why phenol undergoes electrophilic substitution more easily than benzene ?
OR
(a) Account for the following :
(i)  o-nitrophenol is more steam volatile than p-nitrophenol.

(i1) t-butyl chloride on heating with sodium methoxide gives
2-methylpropene instead of t-butylmethylether.

(b)  Write the reaction involved in the following :

(1)  Reimer-Tiemann reaction
(i1) Friedal-Crafts Alkylation of Phenol
(c) Give simple chemical test to distinguish between Ethanol and Phenol.

27. (a) Treferfaa & sro e 5
(i) 95T STEYT A Hoht ITTFAhIT FER el & |
(if)  P-P 3¥Taer sh 30T N-N 3941 gefel 211 € |
(ifi)  SATeRIS <t 30T IS FSATTfha: 1 A § |
(b) Scafsta i &1 T ferfg & Cu 1 freman smar 2 -

(i) @ HNO,¥ 3R
(i) |15 HNO,#
e

@ () H,PO, s FFEaIE i fifae |
(i) XeF, %I &a 3Rfgd T |
(b) Tr=feriae o sror e -
(i) Tl T H soiaga afed Tt 1 FTeH @ TR oft F, T vee
o1 2 |
(i) @ 15% N,0, & Bi,0, T H(d & Tedl 2 |
(c) Hewl SEaNiaaTse 1w & wleur & fou v vamfes sififran fafay | amg
TErfe et fafau |

56/1/1 14 By
E H]
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(a)

(b)

(a)

(b)

(©)

56/1/1

WWW.CdI].gl'DOSS.CO[Il

Give reasons for the following :

(1)  Sulphur in vapour state shows paramagnetic behaviour.
(i) N-N bond is weaker than P-P bond.

(iii) Ozone is thermodynamically less stable than oxygen.
Write the name of gas released when Cu is added to

(i)  dilute HNO, and

(i) conc. HNO,

OR
(i)  Write the disproportionation reaction of H;PO,.
(i) Draw the structure of XeF,.

Account for the following :

(1)  Although Fluorine has less negative electron gain enthalpy yet F, is
strong oxidizing agent.

(if) Acidic character decreases from N, O, to Bi,O, in group 15.

Write a chemical reaction to test sulphur dioxide gas. Write chemical equation
involved.

. =
E "




